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2 2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Section 1

10 marks
Attempt Question 1 to 10
Allow approximately 15 minutes for this section

Mark your answers on the answer sheet provided.

Questions Marks

Let 2 =5 —1i and w = 2 + 3i. What is the value of 2z + @?

(A) 12414
(B) 12+ 2;
(C) 12 — 44
(D) 12— 5:¢
2. If —2+ 2iV/3 is expressed in modulus-argument form, the result is 1

(A) 4 (cos g + isin g)

2 2
(B) 2 (cos g + isin ;)

(C) 2 <cos 5% + isin 5;)

2 2
(D) 4 (cos % + ¢sin ;)

3. It is known that 2 + 3i is a solution to z* — 623 + 2622 — 462 + 65 = 0. Another 1
solution is

(A) —2—3i
(B) —1—2i
(C) 1—2i

(D) —2 41
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2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 3
4. Let o, 3, and 7 be the roots of the equation z3 + pz? + ¢ = 0. The polynomial 1
with roots 2«, 25 and 27 is:
(A) 23 —2p2? +8¢=0
(B) 2%+ 2pz? +49=0
(C) 2% —2px? — 8¢ =0
(D) 3 + 2px? + 8¢ =0
2?2
5. Given the eccentricity of the hyperbola — — i 1 is e, then the eccentricity of 1
2 Y2 @
the ellipse PR + 2= 1is
(A) —e
1
B) =
B) -
(C) e
(D) ¢?
1
oy 4= :
1+ cosecx
2
(1 + tan f)
(A) 2. tr+e
1+ (tan = )2
2
2
(1 — tan E)
(B) 3 —a+c
1 + (tan 5)2

(C) secx —tanz 4+ x + ¢

(D) tanx —secz —x + ¢

NORTH SYDNEY BOYS’ HIGH SCHOOL
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4 2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

7. Consider the graph of y = f(z) drawn below. 1

Which of the following diagrams show the graph of y? = f(x)?

. / , |

A -
/ \ \

B
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2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

d
8. If \/yx? + xy? = 3, then at the point (1,—1), the value of Y s

9. The cross section perpendicular to the z— axis between two curves y = y/z and

10.
The value of

dx

y = 2y/x is a circle. If the two curves are drawn between x = 0 and z = 4, the
volume of the horn is given by
4
(A) / Vv dx
0
4
(B) / 7 dx
0
4
(C) / T do
0 2
4
T
(D) / — dzx
o 4
L
1 §+ sin x
lim —
hgr%) h /ﬂ-h x du
2

3|

Examination continues overleaf...
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6 2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Section I1

90 marks
Attempt Questions 11 to 16
Allow approximately 2 hours and 45 minutes for this section.

Write your answers in the writing booklets supplied. Additional writing booklets are available.
Your responses should include relevant mathematical reasoning and/or calculations.

Question 11 (15 Marks) Commence a NEW page. Marks
(a) Let 2 =4 +i and w = 2. Find — in the form z + iy. 1
w
dx
b Find / _. 2
(b) V2r — x?
(c) Given that
25 _ar+b cx +d
(x—1)2(x2+4) (z—-1)2 22+4

i. Find a,b,c and d. 2

. 25

ii. Hence, find / w1202+ 4) dx. 3

: 5 2,3 4 2 o 2T

(d) The equation z° = 1 has roots 1, w,w”,w”, w*, where w = cos = + i sin =

i. Show that 14+ w + w? +w? +w* = 0. 1

, 1\’ 1

ii. Show that (w+ — ] +(w+—)—-1=0. 1

w w
2 5—1

iii. Hence, show that cos g = V5 i 2

(e) The region enclosed by the curves y = z + 1 and y = (z — 1)? is rotated about 3

the y—axis. Find the volume of the solid formed.

End of Question 11

FRIDAY 23RD OF JUNE, 2017 NORTH SYDNEY BOYS’ HIGH SCHOOL



2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 7

Question 12 (15 Marks) Commence a NEW page. Marks
' 22 2
(a) For the ellipse 16 + % = 1, find:
i. The eccentricity. 1
ii. The coordinates of the foci S and S’ and the equations of its directrices. 2
iii. Sketch the ellipse showing all the above features. 1

(b) Given the polynomial P(x) = 22 + 32% — 2 + 1 has roots «, 3 and v:

i. Find the polynomial whose roots are o, 52 and ~2. 2

ii. Determine the value of o + 3% + ~3. 3

(c) The shaded region bounded by g(z) = —2? —z+4, f(z) = 1+2? and v = —1 is
rotated about the line x = —1. The point P is the intersection of f(z) and g(x)
in the first quadrant.

g(x)=-x"2-x+4

f(x)=1+x"2

x=-1
i. Find the z—coordinate of P. 1
ii. Use the method of cylindrical shells to express the volume of the resulting 3
solid of revolution as an integral.
iii. Evaluate the integral in part (ii). 2

End of Question 12

NORTH SYDNEY BOYS’ HIGH SCHOOL FRIDAY 23RD OF JUNE, 2017



8 2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Question 13 (15 Marks) Commence a NEW page. Marks

(a) Use integration by parts to evaluate / zIn(z® + z)dz. 3

(b) The diagram shows the graph of the function y = f(z).

Draw separate one-third page sketches of graphs of the following:
Loy=+f(2)
i [yl = f(x)
iii. y=f(z)?

iv. y=e /@

N N NN

(c) The points A, B and P lie on a circle. The chord AB produced and the tangent
at P intersect at the point 7', as shown in the diagram. The point N is the
foot of the perpendicular to AB through P, and the point M is the foot of the
perpendicular to PT through B.

Copy or trace this diagram into your writing booklet.

i. Explain why BN PM is a cyclic quadrilateral. 1
ii. Prove that M N is parallel to PA. 3

End of Question 13

FRIDAY 23RD OF JUNE, 2017 NORTH SYDNEY BOYS’ HIGH SCHOOL



2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 9

Question 14 (15 Marks) Commence a NEW page. Marks
22 2 22 2
(a) The hyperbola #H; : P sl 1 and Ho : P vl —1 as shown in the

diagram. The line x = asecf cuts H; at P and S. Similarly the line x = atan 6
cuts Ho at (Q and R.

H2
H1
i.  Show that the y— coordinates of P and S are £btan 6 respectively and the 2
y— coordinates of @ and R are +bsec 6 respectively.
ii. Prove that the area of trapezium PQR.S is independent of 6. 2
iii. Show that the equation of the line PQ is bx + ay = ab (tan 6 + secf) . 2
iv. Prove that the area of triangle O PQ equals to half the area of the trapezium 3
PQRS.

1
(b) Given that I, = / (1—2%)"dz.
0

i. Evaluate I; and Is. 2
2(n+1)
ii. Show that I,,41 = ——1,. 2
ii ow that [, 41 3 n
22n(n!)2
iii. Hence or otherwise prove that I,, = ————. 2
(2n+1)!

End of Question 14

NORTH SYDNEY BOYS’ HIGH SCHOOL FRIDAY 23RD OF JUNE, 2017



10 2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Question 15 (15 Marks) Commence a NEW page. Marks

(a) A1 A5A3 is an equilateral triangle, the vertices occurring in the positive direction
of rotation.

Im
Az(22)
Ax(21)
As(z3)
Re
i. Prove by geometric means or otherwise that 2
— 2 2 —— —
A3Ai = (COS ?ﬂ- + ¢ sin ?ﬂ-)AgAg = wAsAs,
where w is a complex cube root of unity.
ii. 2z, 29 and z3 are the complex numbers corresponding to Ay, As and Ag 3

respectively. The triangle Ay A A3 is inscribed in a circle of centre zp and
1

Sy P

73

iii. 2
Use (i) or otherwise, prove that z; + w2y + w?2z3 = 0.

radius r. Show that zg = 3 [21 + 22 + 23] and r = — 29|

iv. Hence or otherwise, prove that 3

zf -+ zg + zg = Z1%29 + 2923 + 2321.
1
(b)  Given that @, = = [(1+v2)" + (1= iv2)"] , n > 0.
Let yo =6, y1 = 2 and 3y, = 2yn—1 — yn—2, N > 2.

2
i. Prove by mathematical induction that y,, = Fxn, n > 0. 3

ii. Hence or otherwise, show that 2

() () o

End of Question 15

FRIDAY 23RD OF JUNE, 2017 NORTH SYDNEY BOYS’ HIGH SCHOOL



2017 MATHEMATICS EXTENSION 2 HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 11

Question 16 (15 Marks) Commence a NEW page. Marks
(a) i. Given that a + b > 2v/ab. Prove that a? + b* + ¢ > ab + ac + be. 1
ii. Given that a + b+ ¢ > 33V abe. Hence or otherwise prove that 3
3 3 3
a b c 3
> —(ab be) .
e T Lt a2 2(a + ac + be)
(b) i. Prove that for all positive values of z, x > In(1 + ). 3
. . 1 1 1
ii. Given that x,, = (1+§)(1+§)"'(1+37)’ n > 1. Show that x,11 > xp. 1
iii. Prove that . 3
. Tpp1— 2 1
1 —_ — =
. o1
iv. Show that Inz, <> ) _, T 2
v. Hence or otherwise, show that z;,, < /e for all positive integer n. 2

End of paper.
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MC:

1. z=5—-i,w=2+3i
2z+w=2(5—-1)+2—-3i=12-75i
The answer is D.

2. —2+2iV3= 4(_71+ l?) = 4(cos%n+ isinz?n)

The answer is D.

3. 2+3iisarootof x* —6x3 + 26x% —46x + 65 =0
2 — 3iis also a root (complex conjugate theorem).

Assume a + ib is another root, so a — ib.
Sumofrootsare=2+3i+2—-3i+a+ib+a—ib=4+2a

But sum of roots =6. Hence a=1. And the answer is C.

X X 3 X 2
4. Replace x by > (5) +p(5) +gq=0
x3 x?
_ _ =0
5 +p 4 +q
x3+2px?+8qg=0
The answer is D.

2 2
5. b2=q?(e?—1)e? =27
Let E the eccentricity of the ellipse - b2 = (a? + b?)(1 — E?)
, a1 1
Tat+b? e e
The answer is B.
1 _ sinx _ sinx 1-sinx _ sinx—(sinx)? _
6. J.1+cscxdx - f1+sinxdx - f1+sinx X 1-sinx - f (cosx)? -

sin x

dx — f(tanx)zdx = —fi—zzl - J-((secx)2 — 1Ddx

(cosx)?

——tanx+x+c=———tanx+x+c=secx—tanx+x+c¢
u cosXx

(for [ (CS;;];C)Z dx, use u = cosx)

The answer is C.
The answer is C.

Jyx2+xy2=3 & yx?+xy*=9

dy dy
2xy+x2—=+y*+2xy—=0
Xy dx y xydx
dy  2xy+y®
dx  x2+2xy
—14(—1)2 _
At(l,-l),d—y= _w: o1
dx 1242X1x—1 -1
The answer is B.

9. The diameter of the circle is 2vx — Vx = Vx

. . d 2 X
So the area of the circle is (5) =m

4 _x ,
Volume="m 5 dx. The answer is D.



Vs T T
. 1( 5thsinx . 1( /5 sinx . 1( 5thsinx
10. lim -~ (fnz dx) = lim ~ (fnz dx) + lim - (fnz dx
h-0h E_h x h-0h E_h x h—-0h 3 x

_;L%fll[F(g)—F(f—h)]Hlml[ (

2 0h ) F(_)]
sine  sine 4
_ 2 2 _
_T+T__
. 2 2
Where ar _ X
dx X
The answer is D.
Question 11.
a) z=4+i,w=2=4-—
z 4+L A4+ 4+l 16+8i—1 15 8 |
a) 4—1 4—1

rri 16+l 171
b) vax—x

i
17
— _ du . _q o _
f\/l 14+2x—x2 f\/l (x— 1)2 f\/l—uz = Sin U+ c¢ =-sin (x 1) +c
(whereu=x-1)
) i) 25 __ ax+b cx+d
o1 (x-1)2(x2+4)  (x—1)2

x2+4

25 = (ax + b)(x?> + 4) + (cx + d)(x — 1)?
25 =ax®+4ax + bx? +4b+ (cx + d)(x? — 2x + 1)
25 = ax3 +4ax + bx? +4b + cx3 — 2cx? + cx + dx? —2dx +d
25=(a+c)x3>+(b—2c+d)x*+(4a+c—2d)x+4b+d
a+c=0(1),b—2c+d=0(2),4a+c—2d=0(3)and 4b +d = 25 (4)

(1)>c=-a
(1)& (3) > 3a—2d = 0,0rd =2a(5)

(D&R2)—>b+d=—-2a,0rb=—=>a(6)
3
(4),(5)and (6) » —14a + Sa= 25-a=-2
Sob=7,c=2andd = -3
. 25 [ —2x+7 2x— 3
i) f—(x_l)z(x2+4) dx —f G x4+ [5—

2+4

dx

X 2x
_2_[—(x—1)2dx+5f—(x—1)2dx+_[—x2+4dx_3fx2+4
d i)z°=1-2°-1

21nfx — 1] = —— + I + 4) — tan—1 2 4
n|x St Inkx Stan”lo+c
0-C-1DA+z+22+23+2z)=0->14+2z+2z2+23+2z%=0
sincewisarootofz° —1=0.-1+w+w?+w®+w

4 =0.
ii)1+w+ w?+ w?+ w* = 0. Divide by w?, we obtain

1 2
—+—+1l+tw+w
w w

=0

1 N /1
(E N P
w w



1 1
(ﬁ+w +2)+<5+w)+1—2=0
(%+wf+(%+w)—1=OHH)

2T . . 2T 1 — 1 21
iii) But w = cos?+ lsm?,and ~ =50 ;+ w= 2COS?.

~14/(17 4D

2

LetX=%+ w,50 (xxx) > X2+ X —1=0andX =

. 2, . ) . . ", 2 —1+/5
Since < isin the first quadrant, the cosine will be positive. 2 cos—=—
2 —1+/5
cos— = .
5 4

Using the cylindricall Shell Method.

x+1=(x-1)%?=x*-2x+1 ~x*-3x=0 ~x=00rx=3.
8V = 2nrhéx = 2mx(x + 1 — (x — 1)?)8x = 2mx(3x — x?)6x

x=3

V =2m lim E (3x% — x3)6x
6x—0 .
xX=

3
V= an (3x? —x3)dx = 2m
0

x*)3 81 27
3_ — - — 3
X 4]0 2n<27 2 0) 27TU.



Using the Washer method:

1 4
Ven jo (@ +3)? = (1= p)D))dx + 1 f (1 +9)? = (v — D?)]dx

For the first integral needs to solve forx:y = x? = 2x + 1,x = 1 + ﬁ

=54 2y,
6 6 2
Question 12
. _ 2y . .29 ,_3
a) )16 =25(1—e%) ~e =se=z
i) $(0,3), (0,-3), directrices y = +2 = + 2

iii)

b) P(x)=2x3+3x2—-x+1
i) Replace x by vx in P(x) = 0.

2(vx)  +3(Vx) —VE+1=0 = 2xVx +3x—Vx+1=0

Vx(2x—1)+3x+1=0 ~3x+1=+x(1-2x)
GBx+1)? = (Wx(1—2x))? =~ 9x%+6x+1=x(1—4x + 4x?)

4x3 —13x?>-5x—1=0.

ii) a, B,y arerootsof 2x3 +3x2 —x+1=0
3
a+[3+y=—§
a?,B?,y? areroots of 4x3 — 13x?> — 5x — 1 = 0.

13
a’ + Byt =



c)

a, B,y arerootsof 2x3 +3x2 —x+1=0
203 = —3a’+a—1
2% =-3B%2+p—1
23 =-3y?+y—-1

-3 -57

13
- 2(a3+ﬁ3+y3)=_3(a2+‘82+y2)+a+ﬂ+y_3=_3T+__3=

i)

2 4
—57

3 3 3
+B3+y3=—0"
a’+p7+y 3

—x?2—x—4=14x% ~2x*4+x-3=0

2x+3)(x—1)=0 X = and x = 1.

P is inthe first quadrant - x = 1.

i
: 45
|
:/\}
N\
: 3.5 \C
| .
: r r=x+1
]l—_ 25
| h h=-x\2-x+4-(14x"2)
2
|
|
: 15
| P
| B
|
| 0.5
: x|
1 o]
3 25 2 15 1 -05 o 0% 1 15 2 25
6V = 2nrhéx =
2r(x+ D(—x?—x+4—1—x2)6x =2n(x + 1)(3 — x — x?)6x
x=1
V = 27 lim Z (x +1)(3 = x — 2x2)6x
6x—0 L
x=-

1
Vzan (x +1)(3 —x—2x%)dx
-1

V=2 f_ll(x +1)(3—x—2x%)dx =21 f_ll(—2x3 —3x2 + 2x + 3)dx

-1
2n|5—1+1+43— (G +1+1-3)| =2n[4] =8 U>.

o
=2n[—z—x3+x2+3x] 1



Question 13
a) [ xIn(x® + x)dx Letu =In(x®+ x) and dv = xdx

du 3x2+1 3(x%+1) 2 x?
—= = - andv = —
dx  x(x%2+41)  x(x2+1) x(x2+1) 2

x? 1 3(x2+1) 1 2
1 3 dx = —1 3 __f 2 _J- 2
fx n(x” + x)dx > n(x> + x) 5| * x(x2+1)dx+2 x x(x2+1)dx

—x21(3+) 3fd+1f 2xd
Y Rt I
—x21(3+) 3x2+11 2+ 1)+

=—In(x” +x) - o= 2n(x )+c

2

=X InG3 +x) ’ 2+11(2+1)+
—2nx X 4x an c

b)




c)

(i) In the quadrilateral BNPM, ZBMP + £BNP = 180°
(Opposite angles in cyclic quadrilateral are supplementary.)
(ii) £TPB = £TAP ( angle between the tangent is equal to angle in the alternate segment =
0 say). 4NPA =90-6.
£NBP =90 — 6. But ZMBP = £MNP ( angles in the same segment).
& LMNP = £NPA.
But ZMNP and £NPA are alternate angle on lines MN and PA. .. MN || PA.

Question 14.

a?(sech)? y? LYE _
— = 1 -~ == (sec)? — 1 = (tan §)?

y? = (btanf)? -. y = +htanb.

a’? (tan@)? y? y?
— T -1 = e (tan8)% + 1 = (sec)?
y? = (bsecH)? ..y = +bsech
ii) Let M be the foot of the Perpendicular from P to QR.
Area of trapezium PQRS% (PM)(PS + QR)
PM = asecf —atanf = a(secd —tan6)
PS =2y(P) =2btan®
QR =2y(Q) = 2bsech
Area of PQRS%a(seCB —tan @) x 2b(secH + tan8) = ab((sec8)? — (tan H)?) = ab.

iii)  Gradient of p=2eco=btang _ b

atanf-asecf  a
Equationof PQ:y —btanf = —Z(x—asece)
~ bx + ay = ab(secf + tan ).

a) i)x =asech -

x =atanf -

. _ . . . |bx0+ax0—ab(secO+tanf)|
iv) d=Perpendicular distance from O to PQ is ToTo?

PQ=,/(bsecd — btan )2 + (atan § — asech)?
= /b2 (secH)? — 2b2 secOtan b + b2 (tanH)? + a2 (tan H)2 — 2a? secH tan O + a? (sec §)2




=/ (a? + b2)((sec6)? + (tan 6)2) — 2(a? + b2?) secHtan 6
= /(a? + b?2) (sech — tan §)2 = (sec — tan )/ a? + b2

Area ofOPQ:%x dx PQ = %%x (sec —tan@)Va? + b? = %ab =

% Area of PQRS.

b)
. 1 11 1 2
i) 11=f0(1—x2)dx=[x—%]0=1—§—0=§
1—f11 2)2d —jll 2x% 4+ x)dx = 2x3+x51—1 2+1 0=2
2= ) (Imx)idx= | (=2 +xfde=|x—25+5)=1-3+5-0=15
i) Ipyr = (L= %)™ dx = (1 - x?)(1 - x?)dx =
1 1
(l—xz)”dx—j xz(l—xz)”dx=1n—J x?(1—x®)"dx
0 0 0
Now for f01x2(1 — x?)"dx, letu = x and dv = x(1 — x?)™dx, then
1 (1_x2)n+1
du=dxandv=——=—X——
2 n+1

(1—x2)n+1 1
n+1 O 2 (n+ 1)70

So folxz(l —x)"dx = [—% X X f (1—x®)"1ldx =

1
2(n+1) I

Al

1 2(n+1)
T T mlmp Sl = ont3
_2n Z(n 1) . 2x2
i) Ih=ga-1 -1 = 55 ez, 0 2= 50500
2n Z(n -1 2X2
n = X X . X———I;
2n+1 2n-1 2x2+1
2n 2n 2(n—-1) 2(n-—-1 2(2 2X%X?2
L, = X — X ( )x ( )x...x ()x 1

2n+1 2n 2n-1 2(n-1) 2(2) 2x2+1
C@x2x.x2Px (X (n—1)x..x2x1)? 22" xnl?
T n+Dx2n)x(2n—-1)..5x4x3x%x2x1 (2n+1)!

Question 15 a) A2
i) A3A = A,A; A3
=(c OS—+l sm—)A Ay
= (cos? + i sin ?)AZA3
- A3
= (UAZA3 2m/3
ii) The triangle A1 A, A5 isinscribed in a circle.
Let O be the centre and r its radius.
0A1 = OAZ = 0143 =T.
A4




Let zo the complex number corresponding to O. Since z;, z,, z3 are the complex
numbers corresponding to A; A, Aj respectively.

Now
04, = wOA,
04; = wOA;
z3 — 29 = w(z2 — Zp) (1)
7y — 2y = w(23 — Zp) (2)

z; — 2o = w(21 — Zo) (3)
Add the three equations - A\ :
Z1+ 2, + 23 — 325 = w(zy + 2, + 73) — 3wz, ‘

1-w)(z;+ 2z, +23) =31 —w)z

1
Zy =§(Zl + 75 + z3)

In triangle O A, A,, applying the cosine rule:
A,A,% = 04,2 + 04,% — 2 x 04, x 04, cosz?ﬂ

21

|z, — 23| =712+ 12 = 2 X1 X1 X cos— = 372
1
TZT§|21_ZZ|-
iii) w is the complex cube root of unity - w3 =1, w3 —-1=0,(w—D(W?+w+1)=0

w>+w+1=0 (¥

Using (i) z4 —2z3 = w(z3 — z3)

z1 + wz, — (1 4+ w)zz = 0, but from (*)w + 1 = —w?
5z + wzy + wlizg = 0.

iv) Using (iii) z; = —(wzy + w?z3), also z, = —(wz3 + 0?2;), z3 = —(wWz; + W?z,).

212+ 2,% + 232 = [—(wzp + w?23)]? + [ (wz3 + 0?2))]? + [ (wz; + w?2y)]?

= 0?22 + 20w?%2,75 + 0*73% + w2237 + 2ww? 2125 + W22 + W2 % + 2WW? 2,7, + W2z,
= 2w3 (2125 + 223 + 2123) + (0?2 + W) (2% + 2,% + z32)
Butw? =1, w* =wand w? + w* = —1.
712 4 252 + 232 = 2(202y + 2325 + 2123) — (212 + 7,2 + z3%)
2022 + 2,2 + 23%) = 2(2125 + 2225 + 2123)

le + 222 + 232 =212y + ZyZ3 + Z1Z3.



b) i) Prove by mathematical induction that y,, = 3,12—_1xn n=0.

2 1
yo=30—_1x0=6x0=6><5[1+1] = 6, true forn = 0.

V1 =%x1 =2x; =2 x%[1+i\/§+1—i\/§] = 2, trueforn = 1.
Assume itis true forn =k, i.e. y, = %xk k = 0 (**) Induction Hypothesis
And prove it true forn = k + 1.

. 2
1€ Vi+1 = 3k Xk+1

. . 2 2
Using the recurrence relation of y, » 3y,41 = 2y — Vi1 =2 X 31 Xk~ 3k=2 Xk-1

3k1_1 201+ V2)" + 20 - WDk -3(1+W2)" " —3(1-iv2)" |

3:_1 [(1+2) {201+ V2) - 3} + (1 - 2) T {2(1 - iv2) - 3)]

3,3_1 (1 +52) 7 (-1 +2v2) + (1 - W2) (1 - 21v2)|

1
3k—1

[(1+5v2) 1+ D) + (1 - v2) T (1 - 2iv2)’]
1 . k+1 . k+1
Z%[(l+l\/§) +(1-iv2) ]

- % x % [(1+ iv2) (1 - ix/i)k“]

2
3Vk+1 = 31 Xk+1

2
Yk+1 = 3_kxk+1

Hence by mathematical induction it is true for alln = 0.

i) Yo = o n = g X 2 [(1+V2)" + (1 - v2)"]

3n—1

1
~3n-1

1+ivZ\  [1-ivZ\"
(757) +(57)
<1+i\/2 1—i\/§>" <1—i\/§ 1+i\/§>n]
X + X
3 1—iV2 3 1+iV2

=3 [(1 —1i\/E)n " <1 +1ix/§)n]

[(1+v2)" + (1-iv2)'|

=3

Since (1 + iv2)x (1 — iV2) = 3.



Question 16

a) ia+b=2Vab
a’+ b? > 2ab
a? + c? > 2ac
b? + ¢? > 2bc
a?+b?+a?+c?+b?+c? > 2ab+ 2ac+ 2bc
2(a? + b? + ¢?) = 2(ab + ac + bc)
a’+b%?+c?>ab+ac +bc
i)a+b+c=>3Vabc

a3 3

b_c+c_a+(b—c)(c—a)23ab
ad c3
b_c+a_b+(b—c)(a—b)23ac
b3 c3
g T (c—a)(a—b)=3bc
ad b3 c3
z[b—c+c—a+a—b]+(b_c)(c_a)+(b_c)(a_b)+(C_a)(a_b)

> 3(ab + ac + bc)

Now (b —c)(c—a)+ (b—c)(a—b)+ (c—a)(a—b) =bc—ab—c?+ac+ab—b?—
ac + bc + ac —bc —a®? + ab = ab + ac + bc — (a? + b? + ¢?)

a3 b3 c3
(a2 + b2 4+ 2 >
Z[b—c+c—a+a—b]+ab+ac+bc (a®+ b*+c*) = 3(ab + ac + bc)

3 b3 3
2|24 4+ > —(ab + ac + bc) + (a® + b? + c2) + 3(ab + ac + bc)
b—c c—a a-—b»

> 3(ab + ac + bc)
@’ -+ b7 + ¢ >3 (@b +ac+h
b—c c—a a—b_Z(a ac ©)

b) i)Let f(x) =x—1In(1+x)

1 x
"X)=1- = >0, =0
f'e) 1+x 1+«x forx
f(x) is increasing function.
ffx)=0 ~x=0

f'(x) = ﬁ >0 (O,f(O)) is a minimum.

f(0) = 0 which is minimum and f(x)is increasing for x > 0
f(x) >0 forx>0.

i) xn = (143) (1+5) .-+

1 1 1 1
Xn+1 = (1 +§) (1 +?) (1 +3—n)(1 + 3n+1)




1 1
wa_ (143) (14 32) <1+3n><1+3n+1>_ T
Xn (1+1)(1+ az) (1 + = 3™
3 3m
Xng1 > Xn-
i) 2 = 1+ —— s Tk = 4 - l=mm
1

n
lim Yet1 = Xk = lim Z 32 =1
n—oo n—oo 3k+1 1 6

k=1 -3

iv)xn=(1 +§)(1+3—12)...(1+31n

1 1 1 1 1
lnxn=1n(1+§>(1+§)...(1+3—n)=1n(1+§)+ln(1+§)+~--+ln(1+

Using b)(ii)
1 1 1 w1
1nxn<§+?+"'+3—n=2§
k=1
2 1
v)Inx, < Xk-q k<Zk 1S TIT
: 1
lnxn<e§
x, <+e.

The End.



